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shol 4] 7| EAE T2

csholgle] V)R ARG AW, A5, BAAS 5
() =

o, ATy, TAYE 52 HolH 7 oY
A2 5 = AR T2 o) - AlE U T
« Gfo| o A 71 T A o] %= Al A (sequence) ARHOE FAE
(list), 73 (tuple), AFA (dict) o] Al &Y
o 2] A~ E (list)
« AE [Ietel] YdatE Ar 57 %9 o] g ol
c AT E=] ‘Fo]' | ‘FI ]

F% (tuple)
« AAE (el Ydstes As722 dolg Folth, A = AAE7F
A HE=( ‘Jof’ |, ‘F8 )
« A4 ¥ (dictinary)
- (71, 7})4 HaE {}etel Ydste= A 57x2] do]g ol
J,]_Eﬂﬂ oﬂo} 70, }*61- :80}
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>>> BES = G

g gol =Mz WYL Fstel AR F AFUTh T F=o] 1072

o e Rs) meUth o|el g FAIE AeshA Aelstr] dskel stol 4 oA
£ HAEis) g N EARTRE AT,

) BREEES AFBOR PAE A5 BED AAEY WE BB of Y
(9,7 o)) 331 1 3ol ALg-ght,

55> BB = ['golH s EHaE A o s | #AEFHS(FE) g dAtzp (=) FEA
EA([HolE & Bdsl= A | 9ol 'Z=EF 1)

>>> 25 [0] #R 0) AR =

'dolEl 2 Edshs A

>>> 3= (1] #1954 I 3=z

voé[oiv

>>>




1.

> E (list) (cont.)

c YAE

o] A 1l Q A~}

>>> s=['math',80,70,75.0] #z2=E A (44<)
>>> s
['math',80,70,75.0]
>>> s=[]

>>> s

(1

>>> s .append('math’ )
> s

['math']

>>> s .append(80)

> s

['math',80]

i DR

#8237}

A A 0
) AE s=['math',
AQdl A —4

1

80,

-3

2 3
70, 75.0]
-2 -1

A E] indexing (%), slicing (Z717])

>>> s=['math',80,70,75.0] #2=E A (A<)

W
}'l_l‘

>>> s[0] #e]2EQYA] 0HA 8 & FXE

"'math’

>>> sl1] #e]2EQdA] 1AL FZE

80

>>> s[-11 g 2EQdA ~1(FelA 1HA) X F=x
75.0

>>> s[-2] #e) 2EQ A
70

—1(FelA 194) 8.4 F=x




1.8]2=E(list) (cont.)

« Y A E 9] o] (slicing) , A A, =4

>>> s=['math',80,70,75.0] #z]2=E A (49) A2 4 1 . 2
D Y2 E s=['math', 80, 70, 75.0]

>>> s[0:2]  #0WAIFE 294 2] vl= AR ] & FX2E slicing Aol A —4 -3 -2 -1

['math',80]

>>> [1:-1] #9379 g Q4w A AT FEYLE

[80,70]

>>> sl1:] # 1A F-El vpx| D7z o] F-Ee2E

[80,70,75.0]

>>> s+s #2| 2E AF, Y 2E 5

['math',80,70,75.0, 'math',80,70,75.0]

>>> s+[1000,20] #2] 2E 94

['math',80,70,75.0,1000,20]

>>> s[:2]+['english',90] #2]2=E slicing, 9%
['math',80, 'english',90]

>>> 2xs[:2] #¥] 2 E slicing, &4
['math',80, 'math’ ,80]




1.8]2=E(list) (cont.)

RREAE WA, PR AEAA g RES

>>> s=['math'.80,70,75.0]

>>> s[:2]=['eng",100] #Replace some items
P22 5

['eng', 100, 70, 75.0]
>>> s[0:2]=1]

>2> 8

[70, 75.0]

>>> s[0:0]1=['math',100] #Insert list

PP> 5

['math', 100, 70, 75.0]

>>> s[:0]1=s #Insert (a copy of) itself at the beginning
>2> 8

['math’, 100, 70, 75.0, 'math', 100, 70, 75.0]

>>> g[:]1=[] #Clear the list’ replace all items with emp

#Remove some items

ty list
Y-
[]

el 2] A E clear,max,min

dEx 1 2 3

g AE s=['math', 80, 70, 75.0]
AAdr -4 -3 -2 -1

>>> score=[ 'math’ ,80,70] #%=St =7+ 7|2
>>> g

['math', 80, 70]

>>> 5[1]=90 #S A WA

>>> g

['math', 90, 70]

>>> s[1:1]=[10,20] #ZUA™ =AM S Ot E = [10,20]
>>> g

['math', 10, 20, 90, 70]

>>>

>>> score=[70,80,90,85] # 43| Al¥

>>> max(score) # X O™

90

>>> min(score) # XX E

70

>>> [max(score),min(score)] # Z[11, %A ]
[90, 70]

>>> max(score) ;min(score) # 3t E0f oj2{HH
90

70

>>>




1.8]2=E(list) (cont.)

« 2] A~E Q] AA]  indexing, slicing, = A

- 93 A, 213 A1 7, 449) AR 41448 Clear

>>> s=['math',80,70,75.0] #gAE A (A)

>>>s[0]  #T2E AgA

'math’

>>>s[1]  #Z2E A9

80

>>>s[-2] #TYXE dA9

70

>>> s[0:2] #slicing

['math’, 80] | ¢lg)~ 0 1 2 3
>>> s[1:—1] »~E s=[ ‘math’ , 80, 70, 75.0]
(80, 70] | F¥HA= 4 -3 -2 -l
>>> s[l:] #slicing

[80, 70, 75.0]

>>> s[:2] +['english',90] #slicing
['math', 80, 'english', 90]

>>> 2xs[:2] #TYRE HA
['math', 80, 'math’, 80]

>>> s=['math'.80,70,75.0]

>>> s[:2]=['eng'.100] #Replace some items
>3 5

['eng', 100, 70, 75.0]
>>> s5[0:2]=1]

22> 5

[70, 75.0]

>>> 5[0:0]=['math',100] #Insert list

»r> 5

['math', 100, 70, 75.0]

>>> s[:0]=s #Insert (a copy of) itself at the beginning
2225

['math', 100, 70, 75.0, 'math', 100, 70, 75.0]

>>> s[]1=[] #Clear the list: replace all items with empty
list

22> 5

[

#Remove some items




2. 7= (tuple)

s e daE () ]k Uhshs AR,
PREE AW AT UE U ) 24T B /e Aeg A sk
AL RPN, 1 99 e P aES B
>>> a=(1,3,4,—5) #Define a tuple >>> a=(1,3.4,—-5) #Define a tuple
>>> a ?} 2[0]
(1, 3, 4, —5) >>> al0]=

>>>a=1,3,4,-5 #%=TH ZE tuple
>>> a

(1,3, 4, —5)
>>> b=(11,)
>>> b

(11.)

>>> b=1(11)
>>> b

11

>5>

ik,
o
it
o
Il

4

A9

1[E
o,

15

Traceback (most recent call last):

File "<stdin>", line 1, in <module>
TypeError: 'tuple' object does not suppor
t item assignment
>>> al:2] #slice tuple
(1, 3)
>>> ali2)

File "<stdin>", line 1

a(:2)

SyntaxError: invalid syntax
p




3. AP & (dict)

« AP (MU E]) & A= 7] (key) & gt (value) o] 2k A=
 AFAE A A e A, YA A, (key,value) &Y, #FHxE

el
=

%Po

=2

>>> price={} #EFH AlAEES 9

>>> type(price) #HT price 9 e A=,

<class ' diet’ > # ‘diet’ += dictionarve AFAE 2] o] Fo|t}.
>>> price['samsung']1=42000 # (key,value) = (samsung,42000) & F7}
>>> price #A13 (898 5) prices] AZdE J&g<

{"' Samsung ' : 42000}

>>> price[ ' Daum KAKAQO ' 1=80000 #( ‘Daum KAKAOQ® ,80000) 57}
>>> price #A1A price] AR JE£E<

{'samsung": 42000, 'Daum KAKAQ" 80000}

>>> price['samsung’ ] #AME priceoA key= ‘samsung’ 2% 2 FF(F M) gl

42000
>>> price['Daum KAKAQ']
20000




3. AP 8 (dict) (cont.)

R R
L 1% gJe], fAAAHA

>>»> price[0] #=AE2 Fx =7 ¥BEA 7|E FE st sFeith
Traceback (most recent call last):
File " <stdin> ", line 1, in <module>
KeyError: 0
>>> #ArAE AT e 22U Y
>>> price = { ' Daum KAKAQ ': 80000, ' naver ' :800000, ' daeshin ' :30000}
>>> price # AHA priced] 25 84 (key,value) = ¢lo] 2.7
{'Daum KAKAQ'": 80000, 'naver': 800000, 'daeshin': 30000}
>>> del price['naver’ ] #AF priceslA 7] naver® 24 (naver,80000)<= 274

>>> price # AHA priced] 2 E 8.4 (key,value) S 2lo] 2.7]
{'Daum KAKAQ" 80000, 'daeshin": 30000}
P

- [

naver 20000

Daum EKAKAD 200000
daeshin 30000

- o

Daum KAKAD 200000
daeshin 30000



3. A ¥ (dict) (cont.)

CAFR (3 ) ol A 71—t 9lo] 9]

>>> price = {'Daum KAKAQ" 30000, 'naver':800000, 'daeshin':30000} key m
>>> price

{'Daum KAKAO'": 80000, 'naver': 800000, 'daeshin’: 30000} naver 50000
>>> price.keys () #2174 priced] 2 E key 848 9]0] 27 Daum KAKAO 800000
dict_keys(['Daum KAKAOQ', 'naver', 'daeshin'l) daeshin 30000

>>> list(price.keys()) #AMA priced] key 845 T AE o7 digl
['Daum KAKAQ', 'naver', 'daeshin']

>>> list(price.valuesO) # AHZ priced] & 84S HAE 0= ¥HE
[80000. 800000, 300001

>>> 'naver' in price.kevs () #naver7}F AF3 priced] 7] Qe oz F

True

»>>> ‘Naver' in price.kevs() #Naver?} AFA priced] 7171 71 gle o=z AA
Falze

>>> price['naver'] >>> price ['Naver’ ]

200000 Traceback (most recent call last):

File "<stdin>", line 1, in <module>
KevError: 'MNaver!
e




4.

e
A
=]
mn

Z7t

PR 08/26 = 43,600
ﬁ -'IZ’T"I-'_._ X:" basav = 44050
08/25 = 44150

08/29 =t 43,400

20199 82 e A Af F7bel| vjshed, oe/30 E #4000

8/264 2 E71= SAEL A AA| &5 07 Qg3 pricette o] F9] A
EE VFEolEA Q.

2l 2E price® ©1 &8 s Foll T7HE V= o2 M w0d 7S = 9E)
Ao, FE: AREA HAGE 3= &5 max (o], st &9 38k=
3= print O Yy th)

Y AE priced o] &3 G Fol T7HE 7IFOE 7MY WA M S &
AL, FE: gAEA HE3hs 3t 45 min( o1 o %5
o= print ) U th)

i

2]~ E priceE o]&8 oA F7HE sl =85k Q.

o) 7S 719 ko ®E T H = AFA (dict) price28 = FEEA Q..

7. AF4A price2 = o] &3l 08/30¥ 9] 7= =4 A L.



